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(,) Mr. Stanton asked his students to write an algebraic expression on a
piece of paper. He chose four students to go to the board and write

their expression.
Robert wrote: 4(2x + 5) = 17
Meredith wrote: 3y — 7 + 11z
Steven wrote: Sw + 2 = 20
Cynthia wrote: 8 + 10 — 4 = 14
Which student wrote an algebraic expression?

(1) Robert (3) Steven
(2} Meredith (4) Cynthia

Z\ An example of an algebraic expression is

(1) 22+3 _13 (3) dx—1=4
f X
(2) (2e+1)(x-7) (4) x=2

')7) An example of an algebraic expression is
() x+2 (3) y<x+2
(2 y=x+2 (4) y =22+ 2

‘—0 An example of an algebraic expression is
() y=mx+b (3) 2x+ 3y =18
(2) 3x+dy—7 {4) (.\'+y)(.1:—y)‘—'25
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f\ Which statement is true about the data set 3,4,5,6,7,7, 10?

)

Y

(1) mean = mode (3) mean = median

(2) mean > mode (4) mean < median

Alex eamed scores of 60, 74, 82, 87, 87, and 94 on his first six algebra
tests. What is the relationship between the measures of central
tendency of these scores?

(1) median < mode < mean  {3) mode < median < mean

(2) mean < mode < median () memn < median < mode

This year, John played in 10 baseball games. In these games he had
hit the ball 2, 3,0, 1, 3, 2, 4,0, 2, and 3 times. [n the first 10 games
he plays next year, John wants to increase his average (mean) hits per
game by 0.5. What is the total number of hits John needs over the first
10 games next year to achieve his goal?

(1 5 (3) 20
(2) 2 (4) 25

Sam’s grades on eleven chemistry tests were 90, 85, 76, 63, 94, 89,
81, 76, 78, 69, and 97. Which statement is true about the measures of
central tendency?

{1) wean > mode {3) mode > median

(2} mean < median (4) median = mean



5) Civen the f'ul]nwing list of students’ scores on a quiz: 3, 12,7, 15,20, 14, 7

Determine the median of these scores.

12

Determine the mode of these scores.

The teacher decides to adjust these scores by adding three points to each score. Explain the elfect,
i any, that this will have on the median and mode of these scores.

b b 3

é,\ " The prices of seven race cars sold last week are listed in the table below.

Price per | Number of
Race Car | Race Cars
$126,000 1
$140,000 2
$180,000 1
$400,000 2
$819,000 1

What is the mean value of these race cars, in dollars?

315,040

What is the median value of these race cars, in dollars?

|gul_0u)

State which of these measures of central tendency best represents the value of the
seven race cars. Justify your answer.

/l’! ip.'jln +



7) Ms. Mosher recorded the math test scores of six students in the table below.

Student | Sgaare .
Andrew 72 |
John 80
George 85
Amber 93
Betty 78
Roberto 80

Determine the mean of the student scores, to the nearest tenth.

6.3

Determine the median of the student scores.

Describe the effect on the mean and the median if Ms. Mosher adds 5 bonus points to each of the
six students’ scores.

Meew = 603
M!(/!ltM = 3}'



VAKE ;

Box - aut - (hicker

l) The box-and-whisker

plot below represents students' scores on
recent English test.

il

f!:?.‘::lll:l.’ll:”!l?%
60 70 80 S0 100
Student Scores
What is the value of the upper quartile?
(1) 68 (3) 84
(2) 76 () 94 3

G’)) Based on the box-and-whisker plot below, which statement is Salse?

i
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(1} The median is 7.

(2) The range js 12,

(3) The first quartile is .
(4) The third (quartile js 11,

The box-and-w

hisker plot below represents
20 students.

the math test scores of

60 70 80 eg T 100
2) What Percentage of the test scores are fevs than 727

(1) 23 {3) 75

(2} 50

i+ 100
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What is the range of the data represented in the box-and-whisker plot
shown below?

|—
““ [:} 1 1 ] 2|5 ] I { ] 5!0 ] [ 1 1 75 100
(1) 40 (3) 60
(2} 45 (4) 100

f,-) The hox-and-whisker plot below represents the ages of 12 people.

)
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" 5 10 15 20 25 30 35 40 45 50 55

-

What percent of these people are age 15 or older?

(1) 25 (3) 75

(2) 35 (4) 85

A movie theater recorded the number of tickets sold daily for a
populur movie during the month of June. The box-and-whisker plot

shown below represents the data for the number of tickets sold, in
hundreds.
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Which conclusion can be made using this plot?

(1) The second quartile is 600,

(2) The mean of the attendance is 100,

(3) The range of the attendance is 300 to 600.

(4) Twenty-five percent of the attendance is between 300 and 400.



7) The test scores from Mrs. Gray’s math class are shown below,
72,73, 66, 71, 82, 85, 95, 85, 86, 89, 91, 52

Construct a box-and-whisker plot to display these data.

i 1 L 1

(] i P

} 1 1 )
65 70 75 80 85 90 95 100

Y58
Medanr 55
7 qu
May  q¢

5) The number of songs lifteen students have on their MP3 players is:
120, 124, 132, 145, 200, 235, 260, 292, 308, 314, 342, 407, 421, 435, 452

State the values of the minimum, Lst quartile, median, 3rd quartile, and masimum.

My =il
Py

Med =242
ped L qu7
MAX = 15° L

Using these values, construct a box-and-whisker plot using an appropriate scale on the line below.
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What is the value of the third quartile shown on the box-and-whisker

plot below?
— —
;c:) : 3 +— 5 +—t :g 1 112 >
(1) 6 (3) 10
(2) 85 4) 12

The freshiman class held a canned food drive for 12 weeks. The results
are summarized in the table below.

Canned Food Drive Results

week |1l2|3alsie|7zl8|altwo]n]2
Number | o [ 15135 | 45|58 | 46 | 28| 23| 31| 79| 65| 62
of Cans

Which number represents the second guartile of the number of cans

of tood collected?

(1) 295
(2) 305

(3) 40
(4) 60

J
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I.) Kathy plans to purchase a car that depreciates (loses value) at a rate
of 14% per year. The initial cost of the car is $21,000. Which equation
represents the value, v, of the car after 3 years?

(1) v = 21,000(0.14) (3) v =21,000(1.14)
(2} v =21,000(0.86)° (4) v =21,000(0.86)(3) 2\

2) The Boaster Club raised 530,000 ¢
Each vear the fund will decre
will be left in the sports fund

or a sports fund. No 4
ase by 5%. Determine the
ter 4 years.

nore money will be placed into the fund.
amount of money, to the nearest cent, that

439585 o 2438 ko

?) The value of a car purchased for $20,000 decreases at a rate of
12% per year. What will be the value of the car after 3 years?

(1) $12,800.00 (3) $17,600.00
(2) $13,629.44 (4) $28,098.56 l

L{] Me. Smith invested $2,500 in a savings account that earns 3% interest

! compounded annually. He made no additional deposits or withdrawals.
Which expression can be used to determine the number of dollurs
in this account at the end of 4 years?

(1) 2500(1 + 0.03)% (3) 2500(1 + 0.04)3
(2) 2500(1 + 0.3)* (4) 2500(1 + 0.4) |

{ ) Cassandra bought an antique dresser for $500. If the value of her
dresser increases 6% annually, what will be the value of Cassandra’s
dresser at the end of 3 years to the nearest dollar?

(1) $415 (3) $596
(2) $590 (4) $770 ’5

b ) The value, 4. of a $15,000 investment over v years is represented by
the equation i = 15000(1.2)3. What is the profit (interest) on a 6-year
investment?
(1) $6,600 (3} $21,600
(2) $10,799 (4) $25,799 \




]

The current student population of the Brentwood Student Center

is 2,000. The enrollment at the center increases at a rate of 4% eacl)

year. To the nearest whole number, what will the student population

be closest to in 3 years?

(1) 2.240 (3) 5.488

(2) 2.250 (4) 6,240 ]

A bank is advertising that new customers can open a savings account with a 3%% interest rate
compouncled annually. Robert invests $5,000 in an account at this rate. Il he makes no additional
deposits or withdrawals on his account, {ind the amount of money he will have, to the nearest cent,
after three years.

5,6 63.¢b
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Which statement is true about the relation shown ou the graph
helow?
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(1) 1t is a function because there exists one x-coordinate for each
y-coordinate.

(2) It is a function because there exists one y-coordinate for each
x-coordinate.

(3) 1t is not a function because there are multiple y-values for a
given x-vilue.

(4) It is not a function because there are multiple t-values for a
given y-value.
Which graph represents a function?
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g) Which graph does not represent a function?

b

(3)

(1)

14

(4)

(2)

L/) Which graph represents a function?
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Which relation is not a function?
(1) 1(1,5),(2,6), (3,6), (4,7)]

(2) {(4.7), (2.]), (-3,6}, (3,4)]
(3) {(-1,6),(1,3), (2,5), (L,7)]
4) {(-1,2), (0,3}, (5,0}, (2,-1)}

Which relation is a function?
W B, o020 @ {-L.05). 0]

@ 1=22). (-1, (=201 @) 12D, (43, 63)

Which set of ordered pairs represents a function?
(1} {(0,4), (2,4). (2,5)} (3) {(4,1), (6,2), (6,3), (5,0)}
(2} {(6,0), (3,0), (4,0)} (4) {(04), (1,4),(0,5),(1.3))

Which relation represents a tunction?
(1) {(0.3), (2,4), (0,6))

(2) {(=7.3), (-7.1), (=10,3), (-4,3))
(3) {(2,0), (6,2}, (6,-2)}

(4) [{-6.5), (-3.2}, (1,2), (6,5}
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l) A survey is being conducted to determine which types of television
7 programs people watch. Which survey and location combination
would likely contain the most bias?

(1} surveying 10 people who work in a sporting goods store

(2} surveying the first 25 people who enter a grocery store

(3} randomly surveying 50 people during the day in a mall I
(4} randomly surveying 75 people during the day in a clothing store

2_) Erica is conducting a survey about the proposed increase in the
sports budget in the Hometown School District. Which survey
method would likely contain the most bias?

(1) Erica asks every third person entering the Hometown Grocery \
Store.

(2) Erica asks every third person leaving the Hometown Shopping
Mal! this weekend. \

(3) Erica asks every fifth student entering Hometown High School
on Monday moming,.

(4) Erica asks every fifth person leaving Saturday’s Hometown High L
School football game.

;) A survey is being conducted to determine which school board
candidate would best serve the Yonkers community. Which group,
when randomly surveyed, would likely produce the most bias?

(1) 15 employees of the Yonkers school district

(2) 25 people driving past Yonkers High School l
(3} 75 people who enter a Yonkers gracery store

(4) 100 people who visit the local Yonkers shopping mall

Lﬂ A school wants to add a coed soccer program. To determine student
interest in the program, a survey will be taken. In order to get an
unbiased sample, which group should the school survey?

(1) every third student entering the building

(2) every member of the varsity football team

(3) every member in Ms, Zimmer's drama classes

(4) every student having a second-period French class !
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Four hundred licensed drivers participated in the math club's survey
on driving habits. The table below shows the number of drivers
surveyed in each age group.

Ages of People in Survey on
Driving Habits

16-25 150
26-35 129
3645 33
46-55 57
56-65 n

Which statement best deseribes a conclusion based on the data in the
table?
(1) Tt may be biased because no one younger than 16 was surveyed.

(2) It would be fair because many different age groups were
surveyed.

(3) It would be fair because the survey was conducted by the math
club students.

() It may be biased because the majority of drivers surveved were
in the younger age intervals.

Which set of data can be classified s qualitative?
(1} scores of students in an algebra class

{2) ages of students in a biology class

(3) numbers of students in history classes

(4) eye colors of students in an economics class

Which data set describes a situation that could be classified as
qualitative?

(1) the ages of the students in Ms. Marshall’s Spanish class

(2) the test scores of the students in Ms. Fitzgerald's class

(3) the favorite ice cream Havor of each of Mr. Hayden's students

(4) the heights of the players on the East High Schaol basketball
team

Which' data set describes a situation that could be classified
as qualitative?

(1} the elevations of the five highest mountains in the world

(2) the ages of presidents at the time of their inauguration

(3) the opinions of students regarding school lunches

(4) the shoe sizes of players on the basketball team

1
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) Which sitnation deseribes o correlation that is o

Which set of data can be classilied as quantitative:

(1) first naes of students in a chess club
(2) ages of students in a government class
(3) hair colors of students in a debate club

(4) favorite sports of students in a gym class

Which data set describes « sitnation that conld be classified as
quantitative?

(1) the phone numbers in a telephone hook

(2) the addresses for students at Llopkins High School

(3) the zip codes of residents in the city of Bulfalo, New York

(4) the time it takes each of Mr. [apers students to complete a test

Which situation does not deseribe a cansal rvlutiunship?

(1) The higher the volume on 4 raddio, the louder the sonng will he.

9 b o e .

(2) The faster a student Bpes aresearch paper, the more pages the
piper will have, .

(3 The shorter the distance driven (he less gasoline that will be 1sed

) The stower the pace of a rinner the longer it will take

s the runner
to finish the race,

: & a4 causal
relutumslnp.‘J

(1) the length of the edge of a cube and the volume of the cube
(2) the distance traveled and the time spent driving
(3} the age of a child and the number of siblings the child has

(£} the number of classes taght in a school and the number of
teachers employed

Which phrase best describes the relationship between the number of
miles drven and the amonnt of gasoline used?

(1 cansal, bat not correlated
{2) corvelated, but not causal
(3) both correlated and causal

(1) neither correlited nor cansal

H) Which relationship can best be described as causal?

(1) height and intelligence
(2) shoe size and running speed
(3} number of correct answers on a test and test score

(4) number of students in a class and number of students with
brown hair

7
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Which table does not show bivardate data?

(L)

Height Weight
(inches) {pounds)
39 50
48 70
60 a0
Gallons Miles Driven
15 300
20 400
25 500
Quiz Average Frequency
70 12
80 15
90 6

Speed (mph) | Distance (miles)
40 80
50 120
55 150

”) Which data table represeunts univariate data?

Side Length| Area of
of a Square | Square

2 4

3 9

4 16

5 25

(1)
Hours Pay
Worked

20 $160

25 $200

30 5240

35 3280

Age
Group Frequency
20-29
30-39
40-49 10
50-59 4
(3)
Peopl Number of
eople Fingers
2 20
3 3o
4 40
5 50
i4)
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)lf the speed of sound is 344 melers per second, what is the
'/ approximate speed of sound, in meters per hour?

60 seconds = | minute
60 minutes = 1 hour

(1) 20,640 (3) 123,840
(2) 41,280 (4) 1,238,400 L/
) it takes Tammy 45 minutes to ride her bike 5 miles. At this rate, how
‘ long will it take her to ride 8 miles?

{1) 0.89 hour (3) 48 minutes

{2} 1.125 hours (4) 72 minutes '1

3 ) Nicole's aerobics class exercises to fast-paced music. If the rate of the
music is 120 beats per minute, how many beats would there be in a
class that is 0.75 hour long?

(1) 90 (3) 5400
CUSLL (4) 7,200 3

) A hiker walked 12.8 miles from 9:00 a.m. to noon. e walked an
additional 17.2 miles from 1:00 p.m. to 6:00 p.m. What is his average
rate for the entire walk, in miles per hour?

(1) 3.75 (3) 4.27
(2) 3.86 4) 7.71

S ) What is the speed, in meters per second, of a paper airplane that flies
24 meters in 6 seconds?
(1) 144 (3) 18
{2) 30 (4) 4

L) Steve ran a distapce of 150 meters in l% minutes. What is his speed
in meters per honr? -

(1) 6 {3) 100
(2) 60 (4) 6,000



7) The number of calories bumed while jogging varies directly with the

"/ number of minutes spent jogging. Il George burns 150 calo'rics‘by
jogging for 20 minutes, how many calories does be burn by jogging
for 30 minutes?

(1) 100
(2) 180

g ) The chart below compares two runners.

{3) 200
(4) 225

Distance, | Time, |
Runner in miles in hours
Greg L 2
Dave 16 3

Based on the information in this chart, state which runner has the faster rate. Justify your answer.

(e ‘-'j

q) Angela wants to purchase carpeting for her living room. The dimensions of her living room are

12 feet by 12 feet. If carpeting is sold by the square yard, determine how many square yards of
carpeting she must purchase.

3 feet = 1 yard

9 square feet = 1 square yard

Il

|0) A turtle and a rabbit are in a race to see who is first to reach a point 100 feet away. The turtle

travels at a constant speed of 20 feet per minute for the entire 100 feet. The rabbit travels at a
constant speed of 40 feet per minute for the first 50 feet, stops for 3 minutes, and then
continues at a constant speed of 40 feet per minute for the last 50 feet.

Determine which animal won the race and by how much time. '

Totle §
]l) Tom drove 260 miles from his college to home and used 23.2 gallons of gasoline. His sister, Ann,

drove 225 miles from her college to home and used 15 gallons of gasoline. Whose vehicle had
better gas mileage? Justify your answer.

An

I L\ Inagame of ice hockey, the hockey puck took 0.8 second to travel 89 feet to the goal line. Determine
the average speed of the puck in leet per second.

.y



B) The gas tank in a car holds a total of 16 gallons of gas. The car travels

75 miles on 4 gallons of gas. If the gas tank is full at the beginning of
a trip, which graph represents the rate of change in the amount of gas
in the tank?
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) Antwaan leaves a cnp of hot chocolate on the counter in his kitchen.
Which graph is the best representation of the change in temperature
of his hot chocolate over time?
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[SJ The table below represents the number of hours a student worked and the amount of money the
student earned.

Number | Dollars
of Hours | Earned
(h) (d)

8 $50.00
15 $93.75
19 $118.75
30 $187.50

Write an equation that represents the number of dollass, d, carned in terms of the number ol

hours. h. worked.
6) = )5 }1

Using this equation, determine the number of dollars the student would earn for working|
40 hours. .

150
]L) The Hudson Record Store is having a going-out-of-business sale. CDs normally sell for $18.00.
During the first week of the sale, all CDs will sell for $15.00.

Written as a fraction, what is the rate of discount?

2y

What is this rate expressed as a percent? Round your answer to the nearest hundredth of a percent.

Ib 750

During the second week of the sale, the same CDs will be on sale for 25% off the original price.
What is the price of a CD during the second week of the sale?

[5.50



]7) Roberta needs ribbon for a craft project. The ribbon sells for $3.75 per yard. l"md the cost, in
dollars, (or 48 inches ol the ribbon.
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The scatter plot below represents the relationship between the
munber of peanuts a student cats and the student’s bowling score.
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Which conclusion about the scatter plot is valid?

(1) There is almost no relationship between eating peanuts and

bowling score.

{2) Students who cat more peanuts have higher bowling scores.

(3) Students who cat more peanuts have lower bowling scores.

(1) No bowlers cat peanuts.

What is the relationship between the independent and dependent
variables in the scatter plot shown below?
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Test Score

P
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0 ¢ 2

(1 undelined correlation

(2] nevative correlation

3456

7

Hours of Sleep

(3} positive correlation

{ BV no correlation

L



The number of hours spent on math homework each week and the
final exam grades for twelve students in Mr. Dylan’s algebra class are
plotted below.

4 Mr. Dylan’s Class
3
100

= 90

g 80

3;_ 70

3 60

@ 50

g 40

E 3o

o]

al 20

10
12345678910
Time Spent on
_ Math Homework (hours)

Based on a line of best fit, which exam grade is the best prediction l
for a student who spends about 4 hours on math homework each

week?
(1) 62 (3) 82
(2) 72 (4) 92

There is a negative correlation between the number of hours a
student watches television and his or her social studies test score.
Which scatter plot below displays this correlation?
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The masimum height and speed of various roller coasters in North
America are shown in the table below.

Maximum Speed,
in mph, (x) 45 | 50 | 54 60 | 65| 70
Maximum Height,
in feet, (y) 63 | 80 1105 | 118 [ 141 | 107

Which graph represents a correct scatter plot of the data?
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Which equation most closely represents the line of best fit for the
scatter plot helow?

Money Earned from Babysilting
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Megan and Bryce opened a new store called the Donut Pit. Their goal is to reach a profit of
$20.000 in their 15th month of business. The table and scatter plot below represent the protit, P,
in thousands of doltars, that they made during the first 12 months.

t(months)123456789101112

P (profit, in
thousands | 30| 25| 40|50} 65}55) 70 | 60 75 | 70 | 90| 95

of dollars)
P Donut Pit Profits
20| 1 I-f" T ol |
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18 EE'EIL'L.E,;.},:'|||..F;|
Hr L Lot =l 1 1§
N B B B B ..
gml[-.l'll-{l--‘:il.——l bl
. LI A e [ad T B kB
2 o 14 | p e LD
g Tli’;_la’| ['““i"""*'.r"':
g'lo . i ‘r": ‘——5 f '_—'.'l
£ g [« g s g SR
= [ ¢ Il"‘?""?‘.'.ll' ; r.
:'-:'6 - ?..T.-...!.l;._-_'[ | - *}.
'-.34-111T—»|’l“---1.—l,L_}—~r--1.
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[ ._.l,_[.“ 4 1 e S
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0 2 4 6 8 10 12 14 16 18 20

Number of Months
Draw a reasonable line of best hit.

Using the line of best fit, predict whether Megan and Bryce will reach their goal in the
18th month of their business.

Justify your answer.



Which scatter plot shows the relationship between x and y if
x represents a student score on a test and y represents the number
of incorrect answers a student received on the same test?

Test Scores

Test Scores
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In a linear equation, the independent variable increases at a constant
rate while the dependent variable decreases ata constant rate. The
slope ol this line is

{3} positive

(4) undefined

(1) zero

1

(2) negative



The school store did a study comparing the cost ol a sweatshirt with
the number of sweatshirts sold. The price was changed several times
and the numbers of sweatshirts sold were recorded. The data are

shiown in the table below.

Cost of
. 9
Sweatshirt &
Number Sold 14
Which scatter plot represents the data?
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The table below shows the number of prom tickets sold over a ten-day period.

Prom Ticket Sales

Day (x) 1 2 5 7 10
Number of
PromTickets | 30 | 35 | 55| 60 | 70
Sold {y)

Plot these data points on the coordinate grid below. Use a consistent and appropriate scale. Draw
a reasonable line of best fit and write its equation.

y Prom Ticket Sales

.
.

.

Number of Prom Tickets Sold
t

Day

e —
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l) The table helow shows a cumulative frequency distribution of
runners’ ages.

Cumulative Frequency Distribution
of Runners’' Ages

Age Group | Total
20-29 8
20-39 18
2049 25
20-59 31
20-69 35

According to the table, how many runners are in their forties?
(1) 25 (3} 7
(2) 10 (4) 6 3

2) Ms. Tlopkins recorded her students’ final exain scores in the frecquency table below.

Interval Tally Frequency
61-70 “HH 5
71-80 i 4
81-80 THE 1) 9
91-100 | 6

On the grid below, construct a frequency histogram based on the table.




'3) The test scores for 18 stndents in Ms. Mosher’s class are listed below:

$6, 81,79, 71, 38, 87,52, 71, 87, 87, 93, 64, 94, 81, 76, 98, 94, 638

Complete the lrequency table below,

interval

Tally

Frequency

51-60

61-70

71-80

81-90

91-100

Draw and label a lrequency histogram on the grid below.
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) The Fahrenheit temperature readings on 30 April mornings in Stormville, New York, are shown
below.

41°,58°, 61°, 54°, 49°, 46°, 52°, 54°, 67°, 43°, 47°, 60°, 52°, 38°, 48°,
44°, 59°, 66°, 62°, 55°, 44°, 49°, 62°, 61°, 59°, 34°, 57°, 58°, 63°, 60°

Using the data, complete the frequency table below.

interval Tally Frequency
40-44
45-49
50-54
55-59
60-64
65-69

On the grid on the next page, construct and label a frequency histogram based an the table.
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) Twenty students were surveyed about the aumber of days they played outside in one week. The
results of this survey are shown below. :

6,5,4,3,0,7, 1.5.4,4,3,2,.2.3.2,4.3, 4,0, 7

Complete the (requency table below for these data.

Number of Days Outside
Interval Tally Frequency
0-1
2-3
4-5
6-7

Complete the cumulative frequency table below using these data.

Number of Days Outside

Interval %‘r':;‘l’l'ea;i:;
0-1
0-3
0-5
0-7

This question continues on the next page.



Question 38 continued

On the grid below, create a cumulative [requency histogram based on the table you made ou the
previous page.
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6) The diagyam below shows a cumulative frequency histogram of the students’ test scores in
Ms. Wedow's algebra class.

Ms. Wedow's Algebra Class Test Scores

32
30
28
26
24 | —
22
20
18 |
16
14 |-—
12 |— -
10 |- -

Frequency (Number of Students)

T A1-60

[ 16 IS = i e <

41-5 41-70 41-80 41-90

Student Test Scores

Determine the total number of students in the class.
Ll J
Determine how many students scored higher than 70.

L0

State which ten-point interval contains the median.
7i-%0
State which fico ten-point intervals contain the same frequency.
b- g

qy- 100
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1) The sqrare dart hoard shown below has a side that measures 10 inches. The shaded portion in the
center is & square whose side is 13 inches. A dart thrown at the board is equally likely to land on
any point on the darthoard.

40 inches

15 inches

Find the probability that a dart hitting the board will not bind in the shaded area.

7y
600

2.-\ A designer created the logo shown below. The logo consists of a square and four quarter-circles of
equal size.

-

. W J

Svin Svin

Express, in terms of , the exact area, in square inches, of the shaded region.

5 -



3) In the diagram below, circle O is inscribed in square ABCD. The
square has an area of 36.

What is the area of the circle?

(1) 9n (3) 3n
(2) 6= (4) 36x

’—f'\ In the diagram below, MATH is i rectangle, GB = 4.6, MH =6, and
HT = 13

M G A
u B
H T

What is the area of polygon MBATH?
(1) 345 (3) 90.0
2) 35.5 (4) 1243

g) The figure shovwn helow is composed of two rectangles andl
aquarter circle.

:—]------1

5cm

5cm

What is the area of this lizure, to the nearest synare centimeter?

133 3y M

2y 35 438 :)\



£} Luis is going to paint a basketball court on his driveway, as shown in
the diagram below. This basketball court consists of a rectangle and
a semicircle.

— 10t i

Which expression represents the area of this basketball court, in
square feet?

(1) S0 {3} 80 + 16w
(2} S0 + 8% (4) S0 + 64w 2_

'l A tigure s made up of a rectangle and a semicircle as shown in the
diagram below:

6 cm

5cm

What is the area of the fignre, to the nearest tenth of a square

conlimeter?
(1} 394 (3) 488
(2) 4401 4} 58.3 )_

\ [n the diagram below, the circumierence of circle O is 16n inches. The length of BC is

three-quarters of the length of diameter AD and CE = 4 inches. Calenlate the area, in square inches,
ol trapezoid ABCD.

S&
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I) The diagram below represents Joe’s two fish tanks.

12in

16in

Joe’s larger tank is completely.
tank. Determine how many cu

A soup can is in the shape of a cylinder. The can has
Express the height of the can in terms of w

Determine the maxinun numbe
two shelves if the distance between the shelve

30in

filled with water. He takes water from it to completely fill the small
bic inches of water will remain in the larger tank.

r of soup cans th

6in

2
¥

L

t2in

S, 1L

A gylindoer has a diameter of 10 inches and a height of 2.3 inches.
What is the volnme of this avlinder, to the nearest tenth of a cubic

inch?
(ny 723
(1) 53.1

(3 150.6
Gy 7226

9in

4 volume of 342 em® and a diameter of 6 cm.

at can be stacked on their base hetween
s is exactly 36 cm. Explain your answer.

!



'l ] Lenny made a cube in technology class. Each edge measured 1.5 em.
What is the volume of the cube in cubic centimeters?

(1) 2.25 (3) 9.0
(2) 3.375 (4) 135

1

q Find the volume, in cubic centimeters, and the surface area, in square centimeters, of the
rectangular prism shown below.

4cm

2cm

10cm

Wl = 50
S. A7 15

(,‘] How many square inches of wrapping paper are needed to entirely
cover a box that is 2 inches by 3 inches by 4 inches?

(1) 18 (3) 26

(2) 24 (4) 52 L/

7} Mrs. Ayer is painting the outside of her son’s toy box, including the
top and bottom. The toy box measures 3 feet long, 1.5 feet wide, and
2 feet high. What is the total surface area she will paint?

(1) 9.0 fe (3) 225 R
(2) 135 f (4) 270 1,{

¥) The length and width of the base of a rectangular prism are 5.5 cm and 3 cm. The height of the
prisin is 6.75 em. Find the exact value of the surface area of the prism, in square centimeters.

147,75
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[\ A window is made up of a single picce of glass in the shape of a semicircle and a rectangle, as
shown in the diagram below. Tess is decorating for a party and wants to puta string of lights all the
way around the outside edge of the window.

window

e - o o e e =

121

101t

To the nearest foot, what is the length of the string of lights that Tess will need to decorate
the window?

So

2\ A playground in a local community consists of a rectangle and two
semicircles, as shown in the diagram below.

T iSyards ]

l«——25 yards ——»

Which expression represents the amount of fencing, in yards, that }
would be needed to completely enclose the playground?

(1) 157+ 50 (3) 30r + 50
(2) 15n + 80 (4) 30r + 80




)

A garden is in the shape of an isosceles trapezoid and 2 semicircle, as
shown in the diagram below. A fence will be putaround the perimeter

of the entire gurdon.

7im

Which expression represents the length of fencing, in meters, that
will be needed?

(1) 22+ 6w (3) 15 + 67

(2) 22 + 12w (9 15 +12w

-

What is the perimeter of a regular pentagon with a side whose length
sy + 47 )
(1) x>+ 16 (3) 5y +4

(2) 4v + 16 (4) 5x + 20
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Ryan estimates the measurement of the volume of a popcom contfxfner
to be 282 cubic inches. The actual volume of tl.ie pol?com container
is 289 cubic inches. What is the relative error of Ryan’s measurement
to the nearest thousandth?

(1) 0.024 (3) 0.096
(2) 0.023 {4) 1.025

The dimensions of a rectangle are measured to be 12.2 inches by
11.8 inches. The actual dimensions are 12.3 inches by 11.9 iches.
What is the relative error, to the nearest ten-thousandth, in calculating
the area of the rectangle?

{1} 00165 (3} 0.0165
{2) 0.016%7 (4) 0.0164

Carrie bought new carpet for her living room. She calculated the
area of the living room to be 174.2 square feet. The actual area was

148.6 square feet. What is the relative error of the area to the
nearest ten-thousandth?

(1) 0.1412 (3) 1.8588
(™ Npad (4) 2.1644
Corinne caleuluted the area of a paper plate to be 50.27 square

inches. II' the actual area of the plate is 55.42 scquare inches, what is
the relative error in callculnting the area, to the nearest thousandeh?

(1) 0.092 (3) 0.102
(2} 0.093 {(4) 0.103

Jack wants to replace the flooring in his rectangular kitchen. Ie
caleulates the area of the floor to he 12.8 square meters. The actual
area of the tloor is 13.5 square meters, What is the relative error in
caleulating the area of the foor, to the nearest thousandth?

(1) 0.051 (3) 0.054
(2) 0.052 (-8 0.035

The actual dimensions of a rectangle are 2.6 cm by 6.9 cm. Andy
measures the sides as 2.5 cm by 6.8 cm. In calculating the area, what
is the relative error, to the nearest thousandih?

{1} 0.055 (3) 0.022
{2} 0.052 (4) 0.021

e



ame of a small wooden cube, Lzra measured an
actual length of the edge of Ezra’s cube
his volume calculation to the

To calculate the vol
edge of the cube as Zem. The
is 2.1 cn. What is the relative error in

nearest hundredth?
(1) 0.13 (3) 0.15
(2) 0.4 (4) 0.16 2_

Q') Alexis calculates the surface area of a gilt box as 600 square inches. The actual surface area of the
gift box is 592 square inches. Find the relative error of Alexis’ calculation expressed as a decimal
to the nearest thousandth.

volt

?) Using his ruler, Howell measured the sides of a rectangular prism to be 5 cm by 8 cm by 4 cm. The

actual measurements are 3.3 cm by 8.2 cm by 4.1 cm. Find Lowell's velative error in calculating the

volume of the prism, to the nearest thousandth.

' / { 2
D) At the end of week one, a stock had increased in value from $5.75 a share to $7.50 a share. Find
the percent of increase at the end of week one to the nearest tenth of a percent.

At the end of week two, the same stock had decreased in value from $7.50 to §5.75. Is the percent
of decrease at the end of week two the same as the percent of increase at the end of week one? |
Justify your answer.

504

JI} Sarah measures her rectangular bedroom window for a new shade. Her measureiicue ...
36 inches by 42 inches. The actual measurements of the window are 36.5 inches and 42.5 inches.

Using the measurements that Sarah took, determine the number of square inches in the area of
the window.

11312

Determine the number of square inches in the actual area of the window.

,1 S"gl ¢ Sh

Determine the relative error in calculating the arca. Expruss your answer s a decimal to the
nearest thousandth.

Lu iy



{)\ Sophie measured a piece of paper to be 21.7 cm by 28.5 cm. The piece of paper is actually
21.6 cm by 28.4 cm.

Determine the number of square centimeters in the area of the piece of paper using
Sophie’s measurements.

bly. 15

Determine the number of square centimeters in the actual area of the piece of paper.

Determine the relative error in calculating the area. Express your answer as a decimal to
the nearest thousandth.

Sophie does not think there is a significant amount of error. Do you agree or disagree? Justify
your answer.
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[) The statement 2 + 0 = 2 is an example of the use of which property of
veal numbers?
(1) associative (3) additive inverse

(2) additive identity (4) distributive

Z) Perform the indicated operation: —6{a — 7)

State the name of the property used.

“‘(:c\ tY L

?) What is the additive inverse of the expression a = b?
(1) a+h (3) =a+ b
(2) a -0 (4) =a -0

l"l) Which equation illustrates the associative property?
(D x+y+rz=xty+z
(2) ©ly +2)=xy t a3
N x+tytz=z+tytuy
() (v+y) bz =x+(y+z}

g\ Which equation is an example of the use of the associativ
) e prope
of addition? Propery

() x+7=7+x

(2) 3(x +y) = 3x + 3y

B) x+y) +3=x+(y+3)
) 3+@x+y)={(x+y)+3



Chad complained to his friend that he had five equations to solve for homework. Are all of the
homework problems equations? Justify your answer.

Math Homework

ax2 . 2y4

-t

5-2x =3
(2x+7)
7%2 + 2x-3x2-9

o B2 0w

o

_x+2
]

. Name Chad

iy

) A method for solving 5{x — 2) = 2(x = 3) = 9 is shown below. Ideutify the property used to obtain
each of the two indicated steps.

S5(x -2) - 2(x - 5}=9

(1) 5x-10-2x+10=9 {1} 0/31_
(@Y Sx-2x-10+10=9 (2) Cc;ﬂp/]
I«x+0=9

S]Debhie solved the linear equation 3(x + 4) - 2 = 16 as follows:

Ix=9 .
[Line 1] U+ 4)-22 18

x=3
(Line 2) e d)= 18
fLine 3] Ixe =18
[Line 4] e /4
[Line 5] xe ‘a‘—i-

She made an error hetween lines

(1) land 2 (3) 3and 4
(2) 2and 3 {4) 4and 3
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[) What is the vidue of the espression =3y

y =27 ')’J = dvwhen v = ~4 and
(2h <40 (4) 272 }
2)  The value of the expression —ja - bl whena = 7and b = =3 is
(1) -10 (3) -4
(2) 10 (4} 4 I
;) What is the value of the expression |-5x + 12} when x = 57
(1) =37 (3) 13
(2) -13 (4) 37

") Given: A =(18.6, -3, -12|
Determine all elements of set A that are in the solution of the inequality %\ +I< - -7

S) Which value of p is the solution of Sp - | = 2p + 20?

w2 @3
@ (4) 7

1
é} What is the value of x in the equation 2(x — 4} = 4(2x¢ + 1)?
() -2 3) -1

7

(2) 2 ) :

19—
.

7) Solve for x: %(x+ N=x-4

(1) 8 (3) 15
(2) 13 (4) 23




3) Solve algebraically forx: 2(x — 4) = %(5 - )
X 73
tion set of the inequality -2(x-5) < 4?

(3) 3
(4) 5

‘I Which value of z is in the solu

(1) 0
(2} 2

10.) Which value of v is in the solution set of the inequality - 4x + 2% 107
{1) -2 (3) 3
2 {4) -4

1} What is the solution of 3(2m —~ 1) < dm + 7°
(1) m=35 (3 m=s4

2y m=35 4y m=4

! }-) What is the solution of the inequality —6x — 17 = 8x + 25?

(1) +=3 (3) x= -3
(2) x=3 (4) x==3
[i Which value of x is in the solution set of %.t +5<17°?
(1} 8 (3) 12
(2) 9 (4) 16
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Il 3ax + b = ¢, then x equals

(1) c=b + 3a

e

3 &

=
1 &
18

2Yc+h-3a

(4)

@

(Fthe formula for the perimeter of rectangle is P= 2 + 20,
then w can be expressed as

-
(1) ‘”=J2P (3) w=£§i
- Dype
(2) |'U=’P_2'=£ {.!) !'“‘:P_—.')‘f-_%k

3) Solve tor e interms of ¢ and b: e + ac = ab

§

¢

c= 22
brow |
Ifa + ar = b + r, the value of a in terms of b and r can be
expressed as
W L @) 8L
o b2t

¢ : o o= Los? AWhati e
A formula used for calculating velocity is ¢ = sat™. What is a expressed
in terms of v and ¢?

(1) a=3¢ (3 a=%
(2){‘=3__E (4)0=j3'

On a certain day in Toronto, Canada, the temperature was
15° Celsins (C). Using the formula F=§C+32. Peter converts
this temperature to degrees Fahrenheit (F) Which temperature
represents 13°C in degrees Fubrenheit?
n -9 (3) 39
(2) 35 -4 55




.t 4 B
2, i T{' + k = ¢, what is i in terms of e, n, k,and 1?

_ L) _ (t+k
() y=toh () y==—7—
oy ==k _ n(t =k}
@) y = @y ==
rﬂ\ Ifs= 2‘r:t,then:cequals
rs — ¢
1) =5 (3) 2rs — ¢
s+1
(2) = (4) rs — 2t
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l) What is the value of x in the equation % ~3= 2—\69
b - SR
(1) ‘f (3 g
@ -% ) 8 I
3, Ty =2
‘l) Which value of x is the solution of = el =0
373 15
(v 3 @ 3
31 Ll
2y 2L
(2} 56 (4) 7
g ) Solve algebraically [or x: %-‘» dh; 1) le

‘1) Which value of v is the solution of l} o %‘-—l = x?

(11 (3) 3

(2 -1 =3 7
f) Which value of v is the solution of the equation %1 +1=3»

- 2 6

(N '5 3) %

(2) 2 ) 3
L\ Which value of x is the solution of the equation It X5

o 3 '

(n 6 (3) 13 °

(2) 10 (4) 30

7) Solve for m. '—;—' t }-(i'—l_’——‘l 20m — 3)
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Z) Which value of ¥ is the solution of _—TS = %9
(1) —i (3) —4
@ 4 (4) 4

l) What is the solution of k -!,- 4 k+9,

R}
v o
- (4) 14
3) What is the selution set ol ——; = '?’?
-2 x
(1) {-2,3 (3) (-1,6)
(2) (-3, -2 (4) {-6. 1}
Ll‘) Which value of x is a solution of %=-u'6-1§-?
(1) -2 (3) -10
2) -3 (4) -15
3

S) Solve ulgebmicully for x: ‘_ﬁ— =27

J o -5 |
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[) What is the sum of =3x2 — 7x + 9and —5x* + 6x = 4°
(1) =&%-1=35 (3) =822 —13x + 13
(2) =8¢t ~x+5 (4) =8 - 13 + 13

2) The sum of 433 + 6v2 + 2v = 3and 3 + -5 —5is
(1) Ta? + -3 =8 (3) TVHRT=--§
(2) T3+ S+ Tr 2 (4) T+ 9 = -8

';) When 3¢% - 4g + 2is subtracted from g + 3g — 1, the dillerence is
(1) -42 -9z +3 (3) 4g*+9g-3
(2) 1t rg+l (4) 10g~'+g+1

L{\ When 5x + 4y is subtracted [rom 5¢ — 4y, the difference is
(1) 0 (3) 8y
(2) 10x (4 =8y

Sh_ What is the resuit when 2% + vy — 61is subtracted [rom x> = Ty + 27
(1) =22 — Ly + 3 (3) —x* =4y — 4
(2) 12+ Loy — 8 (4) x* = 4y — 4

L, When 412 + Tx = 3 is subtracted from 9x* = 2v + 3, the result is
(1) 3:° ¢3¢ -2 (3) 5% +3v -2

(2) -9+ (1) =32 +9x -8
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2 10
l) What is the sum of -{l—"‘_-. and _1-_-5 exprcssed in sunplest form?

3 Y
12y
) N 5
{1 (3 g+ 5
2+ 10
2 (4 3
y+o
ok e o « =t T A
?) What is the sum of 52=— and 5T
v+ 12 3) r+12
(D) 5773 (3) W+s
b v+ 12 __.—'3': + 12
(2) Iy + 4 ) v+ 8
3) What is the swm nl‘g“’-\-_ and IT;?
21 3 W
1) == ( j
(1) P bx
L3 13
@ £ 4 &

3 4
‘1) What is the sum of 57 and 3 expressed in simplest form?

12 7
(1) 52 3) 32
17 17
2 7 @ 12z

— g

2
and X2

3") What is the sum of 3¢2
xr-9

i o
(v = 9)2 )
2) (3) ——
o (x -2
(2) <3 ,
1 =2 )
v-2

1




2
C) What is % -4 i simplest fo

;_') What is -

1)

3
th 15¢°

2) T‘%{

12y

() LY

What is 2L
5v

]

X, —2

m?

4
(3 1=¢
(4) 5

—

612 expressed in simplest form?

(3) - ¥
124~

o i

(4) [ J_y
E2e=

L= expressed in simplest form?
2%

[3) 4
S5v
” 1].’ Bt

3
7

a

10

12a

(o (
(2) 2 (.
2
6 2 i
What is 3 ~ 3, expressed in simplest form?
(1 2 (3)
a

2) 2 )

2) G
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Simnnlifv: a7k’ m®
,) Y (43 ()

At
3’( J"?k

e ————

1

) e
A The exprESS]On 9 15 equlvalent to

“) 4.1'4 (3) Sx"
(2) 4 (4) 8
o 1203 .

?) The expression T3, is equivalent to
(1) =48 (3) 9uf
(2) —dicly (4) 9wy

275y

'1) Which expression represents vy in simplesl (orm?

{1) ll.t"ly" (3) lS.\"ly‘
{2) ﬂt‘y:’ i4) lS.\"y"

332
g) The expression l-]—%:i—)— is equivalent to

() 2 (3) 20?
(2) 2u® )] 20eS
: conts — 11’ gy simplest form?
C..) Which expression yepresents =573 L 1
~u i
(0 -2act V) =
—2
-4 -—";5-

2y - 2ac®

|

-



3 ASa 1Y — gl
7) Express in simplest torm: 430 b7 = 90ahy

15¢%h |
2
36\26 - é‘ N
Y, 2‘1-6.'21‘21'- .1 . N 9
‘6.) Which expression represents -l—-%— in simplest form?
(1} 6x =3¢ {3) 62°-3v+ 1
(2) 104% = 4y (4) 10x? - dv+ 1

4 . : ' - 13y
{ } Which expression represents -Ex—_—(lj‘—f- in simplest form?

(1) 0 (3) 4x

(2) 2x (4) 2v+2
_ ISy — 19

[ Which expression represents ;—)T'- in simplest form?

v— 325

2 3) 2

: t—3

(2) =2 (1) =2

. v+ 3

2_ e . o
“) Which expression represents %‘—-—Gr- in simplest form?

A==+ 6
3 el
(1 :—_-:,- 3 5
s -y =6 -
(2) pr-zemra (4) =1
-1

j)_) Express in simplest form: 2+t 0 _
>

Xl

Coo s lest form®
i ion r : in ¢ es
[;] Which expression vepresents = 2 4 5. W simp

-

~2y -

3 (3
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I) What is the product of < 1 and % 3 1 e\pressed in simplest form?

4z ’ 4y?
@ & (4) -———‘”‘“3“ L

i +3 .
2| What is the product of tr _Hl and 51_3 expressed in

simplest form?

(1) x 3) x+3
t+3
(2) % (4) -1
_}) What is the quotient of g dmdc(l by j_t 16"’
1 3 _"-ﬁ._
(0 =24 T
: 2,2 v =4
(2) = ) ==

Jx+6 -4

Y ) Perform the indicated operation and simplify: 7573 ¥ 73

3
Y(x-2)

§) Express in simplest form: P+Oetld . 3t
- 49 ¥ 41— 36 }
X+Y |
-____.--’
5 |
C?) Express in simplest form: —8:-42  x*-9
61' tz 3:
Fo
S

Ll |
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[} which algebraic expression represents 15 less than x divided by 97
X 15 / 5 - X
(5 15 (3 15-3

2) 9 — 15 (4) 15— %

2) Marie currently has a collection of 38 stamps. If she buys s stamps
each week for w weeks, which expression represents the total

number of stamps she will hive?
(1) 385w (3} 38s +w
(2) 38 + 5w (4) 58+ +1 b}

77) Which verbal expression can be represented by 2(x — 3)?
{1) 5 less than 2 times x
(2) 2 multiplied by x less than 5
(3) twice the difference of x and 5

(4) the product of 2 and x, decreased by 5

Lf) ?matt: four more cookies thun Alice. Bob ate twice as many cookies as
! im. IF v represents the number of cookies Alice ate, which expression
represents the number of cookies Bob ate?

() 2+(v+4) (3) 2 + 4)
Iy | by P :
(2} 3¢ + 4 (4) 4y + 2}

5 1ls. Each box holds 25 pencils, He
AR bought ® el d took the rest to school. Which

left 3 boxes of encils at hoine an : .
:xpression reprEsents the total number of penclls he tock to school?

(1) 22x (3) 25-3
(2) 251 -3 (4) 25x-75

L



Voo A
4 Which verbal expression is rcprescntc.(l by Etn 3)?
(1) one-halfn decreased by 3

(2) one-halfn subtracted from 3

(3) the difference of one-hall nand 3

(4) one-hall the difference of n and 3

7) If h represents a number, which equation is a correct translation of
“Sixty more than 9 times a number is 3757

(1) 9h =375 (3} 9h - 60 =375
(2) 9h + 60 =375 {(4) 60h+9=23T75

9) Roger is having a picnic for 78 guests. He plans to serve each guest

at least one hot dog. If each package, p, contains eight hot dogs,

which inequality could be used to determine how many packages of
hot dogs Roger will need to buy?

(1) p=78 (3) $+p=a78
(2) $p =78 (4) 78-p=28

? ) The sign shown below is posted in front of a roller coaster ride at the
Wadsworth County Fairgrounds.

All riders MUST be
at least 48 inches tall.

L

if h represents the height of a rider in inches, what is a correct
translation of the statement on this sign?

(1) h <48 (3) h <48
(2) h>48 {4) h248

Mrs. Smith wrote " Eight less than three times a number is greaterl Flla}l
'} Rifteen” on the hoard. 1f v represents the number, which inequality s

a correct translation of this statemeut?
(N Jx-8>15 {3) §->1d
(2) x-8<15 (4) 8- <15



) The sum of two numbers is 47, and their dilference is 13. What is
the larger number?

(1) 16 (3) 32

2) 31 (4) 36
L

/l) Byron is 3 years alder than Doug. The product of their ages is 40.
How old is Doug?

(1) 10 (3) 5

(2) 8 (4) 4

/ 5) Michael is 25 years younger than kis father. The sum of their ages is
53. What is Michael's age?
1) 14 (3 28
(2) 25 (4) 39

I4/The ages of three brothers are consecutive even integers. Three
times the age of the youngest brother exceeds the oldest brother’s
age by 48 years. What is the age of the youngest brother?

(1) 14 (3 22
(2) 18 {(4) 26

’)Sam and Ocdel have been selling frozen pizzas for a class fundraiser.
Sam has sold half as many pizzas as Odel. Together they have sold a
total of 126 pizzas. How many pizzas did Sam sell?
(1) 21 (3) 63
(2) 42 (4) 84

A

L‘ An online music club has a one-time registration fee of $13.95 and
ch;.rges $0.49 to buy .each song. 1f Emma has $50.00 to join the club
and buy songs, what is the maximum number of songs she can buy?

(1) 73 (3) 130




monthly lec of $19.00. She budgets $29.50 per month for total cell
phone expenses without taxes. What is the masimum number of
minutes Tamara could use her phone each month in order to stay

) Tanra has a cell phone plan that charges $0.07 per minute plus a

within her budget? ’,
(1) 150 (3) 421
() 271 (4) 692

{3 ) Rhonda has $1.35 in nickels and dimes in her packet. If she has
six._more dimes than nickels, which equation can be used to
determine x, the number of nickels she has?

(1) 0.05{x +6)+ 0.10x = L.35

(2) 0.05¢ +0.10(x +86) = 1.35

(3) 0.05 +0.10(6x) = 1.35 7
(4) 0.15(x +6)=1.35

)Thv ninth grade class at a local high school needs to purchase a park

permit for $250.00 for their upcoming class picnic. Each ninth grader
attending the pienic pavs $0.75. Each guest pays $1.25. [f 200 ninth
araders attend the picnic, which inequality can be used to determine
the number of guests, x, needed to cover the cost of the permit?

(1) 0.75x = (1.25)(200) = 250.00
(2) 0.75x + (1.25)(200) = 250.00
(3) (0.75)200) — 1.25v = 230.00
(1) (0.75)200) + 1.25x = 250.00

L

10\ Chelsea has 845 to spend at the fair. She spends $20 on admission and $15 on snacks. She wants to
play a game that costs $0.65 per game. Write an inequality to find the maximum number of times, x,
Chelsea can play the game.

Using this inequality, determine the maximum number of times she can play the game.

1§

'

b e e B -
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Unddetmed Exprssons

{}  Which value of x makes the expression i—t—g undefined?

(1) 4 ® 3
(2) -3 (4) 0

2 )+ Which value of n makes the expression #,_l_f undefined?
(1 @) -3
(2) 0 4) :1;

{ ) The function y = F_‘_Q is undefined when the value of x is

(1) Dor3 (3) 3, only
(2) 3or-3 (4) -3, only

lf} The algebraic expression L S %3 is undefined when x is
==
(o (3) 3
(2) 2 (49

2
f) For which values of x is the fraction ITI___I___—__G_ undefined?

r+5x—-6
(1) 1and —6 (3) 3and -2
(2) 2 and -3 {4) 6and -1

2
& ? Which value of x makes the expression ﬁﬁﬁ undefined?
1) -5 (3 3
(2} 2 (4) -3

7)) Forwhich set of v o i 2
) alues of v is the algebraic expression =16 _

undelined? =y - 12
(1) {-6, 2} (3) {-4,4)
(2) {-13) (4) {2 6)

|
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[) What is the slope of the line that passes through the points (2,5) and

(7.3)?

3 8
(1 -3 ) g ]
@ -2 g

?j What is the slope of the line that passes through the points
(2,-3) and (5,1)?

IXIRN

1) -5 (3 -

2
{(2) T (€)]

1 RN
-

2) What is the slope of the line that passes through the points (-5.4)

5
W -2 @ ~3
2) 0 (4) undefined
]} What is the slope of the line passing throu h the points {=2.4) and
P P ] g P

(3.6)?

3 2
() —%— (3) g
(2 -2 4 3 ’5\

What is the slope of the line that passes through the points (3.5)
and (-2,2)?

(0 (3)

Gt e N —
Tt Lol

(2) {-h

2

L) Write an equation that represents the line that passes through the points (5,4) and (-5.0)

\/:' %_/“2
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. . ey mene
/) What is the slope of the line whose equation is 3x = Ty = 9?

i

m -3 (3 -4

(2) 2 (4)

=1

: gD
2) Which equation represents a line p;\railel to the v-axis:

1
(1) x=3 (3) x=3Y
(2) y=10 : (4) y=35v+ 17 l

3) VWhich equation represents a line that is paratlel to the line

y=3-u?
(N +2y=35 (3 y=3-4
(2) v+ 4y =1 4} y=dx -2 ,

L/) Which equation represents a line parallel to the y-axis?
(1) y=x (3) y=—y
(2) y=3 (4) x=—4

§ ) Which equation represents a line parallel to the z-axis?
(1) y=-5 3) x=3
(2) y=-5xz (4) x=3y

;] Which equation represents a line parallel to the y-axis?
(D yv=y (3 y=4

(2)\':4 (4}_{f:1‘+4

7) The graphs of the equations y = 2v = Tand y = kv = 7 are parallel
when k equals

(0 -2 (3 -7
{2 2 4 7

2



Y) Which equation represents a line parallel to the graph of
2¢ - dy = 16?

(1) y=ix-5 (3) y=-20+6 !
- !

@ y=-tx+d (4) y=2c+8 / \

7) Which equation represents a line that is parallel to the line
y=~dx+ 57

(1) y=-dr+3 (3) y=1x+3
@) y=-1z+5 . (4) y=4x45



DIMLE : 3
E‘[Uu(’li’? a"tﬁa Lvlc ffuM 5\/},;),{/. o‘tW/ g/(; [

[) What is an equation of the line that passes through the point (4,-6)
and has a slope of =37

() y=-3x+6 (3) y=-3x+10
(2) y==-3x-6 (4) y=-3v+ 14

/ ) Which cquation represents the line that passes through the point

(1.5) and has a slope of =27
() y==W+7 (3) y=2x -8
2) y=-2+ 11 () y=2c+3

3) What is an equation of the line that passes through the point (3,-1)

and has a slope of 27
(1) y=2:+5 (3)y=2x—4
2 y=2a-1 (4) y=22¢-7

"’) A line having a slope of —i passes through the point (=8.4).
Write the equation of this line in slope-intercept form.
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ini i 3)?
l) Which linear equation represents 2 line contaning the point (1.3)

(1) x +2y =3 (@) w+y=3

(2) x— 2 =5 () 2-y=5 3
2\ Which pomt lies on the line whose equation is 2¢ = 3y = 97

() (-1,-3) {3) {0.3)

2) (-1.3) ) 0,73 L/
2) Which pomt is on the line 4y - 2x = 07

(D (-2~ (3) (-1-2)
(2) ( 21} (4) (1,2)

\ Which point lies on the graph represented by the equation

3y + 2x = 8?
(1) (-2.7) (3) (2.4)
(2) (0,4) (4) (7,-2) vl

Q Which equation represents the line that passes through the points
(-3,7) and (3,3)?

(1)y=%—x+l (3) y=-%.t+5

(2) y=%x+9 (4) y=-—%r+9 3

What is an equati [ the li at pass : .
,{:) i juation ol the line that passes through the points (1
and (8,57 : 5 points (1.3)

(D y+ 1 =20 +3) (3 y=1=2x+3)

2 —':; - = — 2
2) y -5 ={x = ) ) y+3=2x-4

1

?} What is an vqu.\ti(m of the line that passes through the points
(3,-3)and (- 3,-3)?

(1) y=3 (3) y=-3 3
(2) v==3 ) x=y
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Which tvpe of function is represented by the graph shown below?

¥
A
< > X
A 4
i1) absolute value (3 linear
12) exponential i4) quadratic

.o function?
Which equation represents a (quadratic functions

M y=c+2 (3) y=2r°

2) y=|v+ 2 (4) g=2°



The equation y = ~x* - % + 8 is graphed on the set of axes below.

[

| ]

A

- -

v

Based on this graph, what are the roots of the equation
-2-2:+8=07

(1) 8and 0 (3) 9and -1
(2) 2and -4 (4) 4 and -2

A student correctly graphed the parabola shown below to solve a

given qu;uh‘atic equation.

What are the roots of the qnn(lmtif: equation associated with this graph?

i —6and 3 (3} =3and 2

9y =6and 0 (4) —2and 3



The equation y = ©+3r-181s graphed on the set of axes below.

Based on this graph, what are the roots of the equation
a4 3= 18=0?

(1) -3 and 6 {3) 3and -6

(2) 0and -18 (41 3and -18

What are the roots of the equation ¥ = 7x + 6 = 0
(1) Yand 7 (3) -1 and -6
(2) -land 7 {(4) 1and &

What are the roots of the equation W=+ 6=07
11 and =6 3 = 1and 6

(21 2and 3 (4) —2and =3

-

1

oy



What are the roots of the equation ol +21=07

(1) 1and 2] (3) 3and 7

(2) -3 and -3 (47 =3 and =7

The roots of the equation 3x2 = 27r = O are

(1) Dand 9 (3) 0and 3
{2) 0and -9 4} 0and =3

The solution to the equation z* — 6x = 0is
(1) 0, only (3) Oand 6
(2) 6, only (4) 6

Which equation has roots ol =3 and 3°

e —15=0 (3) 2+ 0 +13=0

2y -2 —15=0 () 2T 13=0

Find the roots of the equation 3 2=30— 13 algelml‘\cnlly

Find the roots of the equation 2 = v = 6 algebraically

—'). .:\-4(-'!

What are the lactors of the expression W2y =207
(1) (v + 3 and v + 4! 31 (x =3 and (v + 4}

(91 (v = 3vand x — 4! 41 iy =3 and (v — 4}

Fac : ; i

ctored completely, the expression 2v* + 10x - 12 is equivalent to
/ 1. ST ) ‘

{11 2{x =6Hx + 1} {31 2x + 2)x + 3}

(21 v Ve
2] 2x - B)x -1} (4} 2x = 2)x - 3}

2

&

-



A swim team member performs a dive from a 14-foot-high springboard.
The parabola below shows the path of her dive.

[
o

24

20}~

16

12

Height (feet)

0o 2 4 6 8 10
Distance from Springboard {ieet)

Which equation represents the axis of symmetry?
il) x=3 {3) v=23
(2) y=3 (4} y =23

What is an equation of the axis of symmetry of the parabola represented
vy = -+ 6y — +?
3 (3N r=6

(v =
2" y=3 W)y =0



What is the equation of the axis of symmetry of the parabola shown
in the diagram below?

(11 ¥y=-0.3 (3) x=4.3 )
|2\ T =2 {"!) = ]-3

State the equation of the axis of s
graphed below:

-

vmmetry aud the coordinates of the vertex of the parabola

o T "‘I” _‘:' "l—*i "—T_—I‘-"';-i e St




Which equation represents the asis of symmetry of the graph of the
parabola below?

== i 2 - )
: B s
) :
BN =3 (31 IJ-_-'-'-.?J
N =) 4 v=-23

The height, . of a ball tossed into the air can he represented by the

equation i = —2® & 1h + 3, where vis the elapsed time. What is the
equation of the axis of svmmetry of this purabola?
hhy=3 (3) x=3
2y gy ==3 ) v = -3
Py

The equation of the axis of symmetry of the graph of y = 212 — 3x + 7 —
is

3 3
(N x=7 (3) x=7%

3 3 |
@) y=7% 4 y=% -

Find algebraically the equation of the axis of symmetry and the coordinates of the vertex of the
parabola whose equation is y = -2x% - 8x + 3.

'?(\:—l L-l,“)



What are the vertex and the axis of symmetry of the parabola shown
in the diagram below?

L 3
>

(1) The vertex is (-2,-3), and the axis of symmetry is x = 4.
(2) The vertex is (-2,-3), and the axis of symmetry is y = -2.
(3) The vertex is (—3,-2), and the axis of symmetry is y = -2.
(4) The vertex is (=3,-2), and the axis of symmetry isx = -2,



\What are the vertex and ais of syminetry of the parabola shown in

the diagram below?

Y
A
8 R N B R 3 i
T T RN 't__1
S G, I S I I A I
I g 2 B e 5 51
i ’“I.;L\ ___‘F_j_._1 s
N 00 R ]
it 1'. 4 Ti\__ -T /__.__.,____.I_,._.%
R T I S
T e e IS M
e _,,.__1\ ¥ B
o TR R B . T A O ST
fo : . 1 \I-/ : i ,.-'_.:l,j
s ! -—*"——"————I—ﬂ-*—“ e
N —L—|---|E' bt o
e e o -t Tt 4
ot O S T e
SRR S Iy i . 2 A
Y

1) vertex: (1.=b:
12y vertex: 1.4k

"~

(3) vertex: {—4,15:

4) vertex: . —- L1

What are the vertex and the s of symmetry ol the
in the graph below?

axis of symmetry:
axis of symmetry:
axis of symametry: x

axis of svimietrv: x

X =

puruhnlu shown

vertex: 16,1);

vertex: (1.6); axis of symnetry: i

axis of symmetry: y

vertex: 16.1); wwis of symmetry: ¥

vertes: (1,6): axis of symmetry: x =

O



What are the vertex and axis of symmetry of the parabola
y=x - 16x + 63?

(1) vertex: (3,-1); axis of symmetry: x =3

(2) vertex: (8,1); axis of symmetry: v =3

(3) vertex: (=8,~1); axis of symmetry: v = -3

(4) vertex: (—S,1); axis of symmetry: v = -5

Melissa graphed the equation y = 2 and Dave graphed the equation

y = —3= on the same coordinate grid. What is the relationship
hetween the graphs that Melissa and Dave drew?

(1) Dave’s graph 15 wider and opens in the opposite direction {rom
Melissa’s graph.

(7) Dave’s graph is narrower and opens in the opposite direction
from Melissa’s graph.

3) Dave's graph is wider and is three units below Melissa’s graph.

(4) Dave’s graph is narrower and 1s three units to the left of
Melissa’s graph.

Consider the graph of the equation = ax? + bx +c,whena # 0. Ifais
multiplied by 3, what is rue of the graph of the resulting parabola?

(1) The vertex is 3 units above the vertex of the original parabola.
{2) The new parabola is 3 units to the right of the original parabola.
(3) The new parabola is wider than the original parabola.

(4) The new parabola is narrower than the original parabola.
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/) ;[‘he expression x> — 36y is equivalent to
l it p—
(q; I: - fliys)(.x Gy) (3) (x + By)x — 6y)
2) (: y)(x — 18y) (4) {x -+ 18y)x — 18y)

2) The epressions
The expression 9% - 100 is equivalent to
li) {9x = 10) (v + 10) {3 (3x-100)3x-1)
(2) (3x=10)(3x + 1) ' (4) (9 - 100)(.1'—-{- 1)

3) Which expression is equivalent to 64 — 2P

(1} (8 —x)8 — x) (3) (x — 8)x — 8)
(2) (8 —x}8 +x) (4) (x — 8)x + 8)

l‘ﬁ Which expression is equivalent to 121 = 2P
(1) (x = 1}y — 11) {3 (11 = (11 + %)
(2) {x + 1Dk — 1D (4) (11 =11~ x)

§\ Which expression is equivalent to 9z - 167
(1) (3x +4)(3x - 4) (3) (3x+8)(3x - 3)
(2) (3x—4)(3x - 4) (4) (3x-8){3x-8)

() If Aun correctly factors an expression that is the difference ol two

perfect squares, her factors could be
(3) (x~4Nv- 4)
() (2y -5y =3

(1) (2x + i - 24)
(2) {(2x + 3y 2x - 3y)




7) Which expression represents 36 W2 — 1004° factored completely?

(1) 2(9x + 259Dy — 255°)
(2) 4(3x + 3y")3x — 547

3) (6x +10y3)(6x = 105%)
(4) (18x + 30yP)(18y — 501%)

- 254 is equ.iva]ent to

(3) (8 -Sy)8x + 5y)
(4) (8 - 5y)8= -59)

Factored, the expression 16%°
(1) (dx - Sy)4x + 5y)
(2) (4x - Sy)(4x - 5y)

Q) Factor completelv: 3 - 36x

Tx(x-3)(xe2)

/()) When a — 4a is lactored completely, the result is
(1) (@ —2)a +2) (3) aHa=4)
(2) ala = 2¥a +2) (1) ala — 2)2
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Which ordered pair is in the «olution set of the system of equations
_;--H-l.mdj-\- +5v + 67

(1) (-53,-1) (3) (3.-4)

(2) (-5.6) (4) 5.2) 1

Which ordered pair is a solution of the system of equations
= -x-20 and y =3 - 157

(1 (-3.-30) (3) (0,3)
(2) (-L-18) (4 3,-1 2

\.\/hut.is the value of the y-coordinate of the solution to the system of
equations 2v + ¢y = Sand v = 3y = =37 b

S (3 3
£ (4) =3

Which ordered pair is a solution of the system of equations
y=x+3uudy=.\'2—t?

(1) (69 (3) (3,—-1)
2) (3.6 (4) (2,5

What is the solution of the system of equations 2v — 5y = 11 and
-2u + 3y = -9

(1 (=3-1 3) 3,~1)

2) (-1.3) (4) (3.1)

Which ordered pair is a solution to the system of equations y =x and
y = 1.'.' - 2?
@ LD (@) (22 (



Z) What is the value of the y-coordinate ol the solution to the system
of equations x + 2y =9 andx-y=3?

(1) 6 (3) 3 |
|
(2) 2 (4) 5 )~

Q) What is the solution of the system of equations ¢ + 3d = 8§ and

c=4d — 67
(1) ¢=—Hd=-2 (3 c=2.d=2 gl ¥y
(2) ¢ = —?-.d =3 (‘l) c= 14.(1 = =2 = g E 2_. f ?E
w @ SEe= =
B =283
?) What is the value of the y-coordinate of the solution to the system 8 3 g & E’-u':;_
+ Q -
ofequatxonsr-2y=1andx+4y=7? | g_,g S o
| 5o 2
- == —
(2 -1 (4) 4 ‘ =859
H em et ™
| S§%%
. . 9 503 |
[0) Solve the following system of equations algebraically: E R
| __REEs
. =28 3ggh t.
v +2y =4 w » Bg& !
. —- | ARRA] 9. B
53 2wva
o tuw
- &=
. K29
[Only an algebraic solution can receive full credit.] g o ;'
3 E
s 3 %
- T o=
L ll Y) w "U. 8
S~§ 3
. 2 8%
"’] Julia went to the movies and bought one jumbo popcomn and two 2 n..é

chocolate chip cookies for $5.00. Marvin went to the same movie and
bought one jumbo popcorn and four chocolate chip cookies for $6.00.

How much does one chocolate chip cookie cost? )
(1) $0.30 {3y 5100
(2) 80.75 {4) §2.00

n"'l‘he cost of 3 markers and 2 s 4
. 2 pencils is $1.80. The cost of 4 markers ils is §7 i
the cost of each item? Include appropriate units in your answer. mde Pe"ml-“ 8290, Whotts

JIL{(A/\[[(J“‘{S‘U
/c‘.‘ll-{ & 4“

P
Abais a3 4 ams ' [T Y et Toant S
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{ ) Two equations were graphed on the set of axes below.

=3 -._;. _..-§.!L .....: _jt_. } - 4
; \ ! T »"IH'—
. \[ e = pdari
1] — T
EE Aoft _\i. Ry | Vi |
i <t | )T( = ___',;______
7
il L7

<5 1/-. = X
L. ] .-_‘!‘.354_.___ L1
11 i 1
3 T. .i..-..» — - I_.
NN EN [l
L T

]

Which point is a solution of the system of equations shown on the

graph?
(1) (8,9) (3) (0.3)
(2) (5,0) (4) (2,-3)

Which ordered pair is a solution of the system of equations shown
in the graph below?

,_

i1y (3.1} (3) (0.-1}
(2) (-3,5) {4) (0,-4)



G F

could be used to find the solution of the system of

v + 6and y

=
=N
=
|
h =2
=
- =
=
S =
2 =
= =
= =
\r
- 1

Y



graph can be used to find the solution ol the [ollowing system

of equutinns'.’

Which

)

y=x>+2r+3

*

R el I-I.In.l‘l.-A
-

JE I T e e
0 BN

b e i

P O

e AT

- L..cLlalrla.l an—t

Lot et

\l..

— T

.I—..o...lr | S —
e 1




g) Graph the equation § =3~ 2t -3 on the accompanying set of axes.
Using the graph, determine the roots of the equation 2? - 2t -3 = 0.

) and 3

A




£} Onthe set of ases helow, solve the following system of equations graphically and state the coordinates
of all points in the solution set.

y=x2+dx-35 [/,‘7) -

y=1-1 4 1)

P
1

TR T
| | I 1-1 ¥ I! - 1 [ E. .
I I 'f--i : L | | | i
| | | | . !
< ! o T =
= | bt f“ ,
| f L i i- Pt | | i
EARERE e B
| R iy
il s g ' i | il [ i o i
t | | i - -Jl--_—— O (S | -
3 { i I I =4 J .[ | SR i | :
| Lo b op—1 bl l wlp  pas
I i l 1 | !.j. L L .




gmphically for all values of /
( -’I Y)

6

-G+l

y:

On the set of axes below, solve the following system of equations

xand y.

y

)

y-i-f.’..\:

L



On the set of axes below, solve the following system of equations graphically. State the coordi-
nates of the solution.

=
"

oy
[

g
+
4
0
ut

(,3)

Py
:

2 ! i I 1
N 10 P VL A (S O ) e 1% b I_.|
_ P ] ’. A .
: i | _;_ ’ ' J
- ——L_ - : I & s SIS N T
| | | By
N N N | !
| ; | ‘= |
| f . it
'"VTT“"”—‘“"T e
R LR W B ke __.._..:_ U IO P .1....75_.., s gL - ...]._
: ] - -
|k ‘ | ! i
| ] i ; :
| ! N I B § !l J.b L i..J s
._fr__ i E I : r I_”l'__' ! }
- : ! i i i - ,_.l_.. i
I | |
TPV O ki o
: i A N 1 N
| ; | 1|
RN N
- !."_ _.J'. I T W !l‘ i 1 j
L. S NN T O OO O N A RS




2

dy + 1

o

g system of equations graphically for all values of vand ¢
o

y:

On the set of axes below, solve the followin

J

PRS- _II|.|

LL]_.;T_.. |

Tll.I.TI.I.i_ I_lu__ | Ll.. SO} | B S | I T
_.l.mull_t. Hl..'-ll — H i e B
: _ iy PRI e | i i +.|.‘||ﬂll
I .._I-I_||_ ||“|.|.,._|l| " _ i dvl..
At Al o e =
“.|l|r e erbe— ke e — e e — ._ SV SO S L
A
_inl L T D — . |.z1|d| S S S




za)

y=—.1'2+6.t—3
Xty =T

On the setof axes below, solve the following system of equations graphically and state the coordinates
of all points in the solution set.

(29 (ézq

a4 A N
N ) |
Bl S AR e |
1 i 1 i st H |
R T S e O
! b L
1 i i ; = ‘:}"_' { i ; -
- 1y T St C [
NI i Y I
= . 2 ! li I } 1 1 !
.o ; ! : — teeifias : 1 L
r | | | , | | N |
[ 1I : j* | i e *F-‘
b l b= & b= 1 i i J=== =
D e e B
i v - | - k- e Hemos i PO A
'_Tﬂ ”I i - ‘ - l h 2 - o L'_F"—'-—i'.' . - 1
Ty O I T
I i N RS PO R i Lob i L I




I. On the grid below, solve the system of equations graphically for x and y.
g Y q grap Y o
dr -2y =10

y=-2x-1

(‘1'5)
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[) Which graph represents the inequality y > 3?

N

»»

S-32- Tl 23as -5—4-3-2-1
-1 -
p /
-3
-
-5
(1) (3)
?{ b
N & N 1s
\\‘?‘4 \ W
! 13
— il
S-a-ear flrzaas _s-3-2-1 TY1 2 J/5
fa T [
12 4-2
| 1.3
| | 1
¥°5 ¥75 ///
(2) (4)

?\ Which quadrant will be completely shaded in

inequality y = 2u?
(1) Quadrant [
(2) Quadrant 11

(3) Quadrant I1I
() Quadrant [V

the graph of the



3.\ Which graph represents the solution of 3y - 9 < 617

4)

(

(2)



4

Graph the solution set for the inequality 4v - 3y > 9 on the set ol axes helow.

Determine if the point (1,-3) is in the solution set. Justify your answer.

A T T O O
L
|
nsareninii
SR B I A
e i N __;,] |
A LN I
e R O e e Rl e B
Tl A T O R O R
S e
‘ ' ! —‘! ! - IT‘“"'I'HF "'P'é-_'- ‘!'HJ
S T ) B
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S VI O B
TR
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L R LT




)

R
jems

g A\ -
G'fa/)/!ﬂgé L Vlc‘.’fi(aﬁ[/cs

Which ordercd paiv is in the solution set of the system of inequalitics

shown in the graph below?




ystem of linear

Which ordered pair is in the solution sct of the s

inequalitics graphed below?

)

(3) (5,3)

() ,—4)

4 (-7,-2)

i-

) (=53,

£

g system of

Which ordered pair is in the solution set of the followin

tinear inequalities?

)

y<dx+ 2

yz-x-1

(3} (-1,0)

(1) {0,3)
(2) 2.0)

(4) (-1,-0



’-n On the set ol axes below, solve the (ollowing system of inequalities graphically.

y<‘?.\'+l
y?.'—-%-.\"i--l

State the coordinates of a point in the solution set.

AT 1 0 S O O e O
et : o [t fedocal poof b 1'
SURNEE by R
e P AT L L
| y ' [ L
b | L -k ¢ R .
J | |_ . 1 gLy
M T I T
Dbl | lL o A W o
e b 0 ol ) [ S .
R
BN T LT
I ', : : B D G -+ ey | L ' I.




Graph the following system of inequalities on the set ol axes shown helow and label the solution

set 5.

5)

y>-x+'2

2+ 5

2
~3

==

i

—— e -y —— —— —_ e ——
i
1 1 m !
— et e b
| |..|I| R ha . —tr
_ m “




C.) On the set of axes below, graph the following system of inecqualities and state the coordinates of a |
point in the solution set. :

-yz6

>3
/
T TR
S T
I = 1 e =t
— jam [ I =k 1 b S S
frash—=|
r"—'i'. H | l l_‘ { s
ReRinEl
b T
i | jl
L T f -
IEnEREEEN
< —T :
frs b e bem 3 :
A d_ R
o _ T L
P
RS (SR G SO . | . " o
A o N
[ | | __\ )
l : - [,_._r__ T e N T
L | ! Lo B S N W] e _.|,
( I L j L . I.- ‘L ...__.I._ | U S



7) Solve the following system of inequalities graphically on the set of axes below.

2

3x+y<7

y?_%.t"~l

State the coordinates of a point in the solution set.

l -

i v 1 .

| | '

e |
|

i

,H_-”____q_
=

.
b=

N
BEsaRE
s L' bl

e o
I ‘--—1-"-‘1——]. .
REdna

T
T
I.'

A

(1) (-5.3)

(2

-

) (04)

\

e i

.
'
L L v PR A

t

IR (A
1

y<%.r+-l

yZ—\'+1

(3) 13,-3)
(H (10)

RN .

R 1 T
ApREEnhE.
i | — ) U
l E.mlL l_ﬁ.].-.—! | | .--_.!

Which ordered pair is in the solution set of the lollowing system of
inequalities?
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A rectangle has an area of 24 square units. The width is 5 upits less

than the length. What is the length. in units, of the rectangle?

(1) 6 {3) 3

(2) 8 (4) 19 2

The width of a rectangle is 3 less than twice the length, x. 1f the area

ol the rectangle is 43 square feet, which equation can be used to find
the length, in feet?

(1) 2ux =N =43 (3) 2 + 22~ 3) =43
(2) «(3—-2)=43 (1) (2x =3 =43 L/ '

The length of a rectangular room is 7 less than three times the width,
1e, of the room. Which expression represents the area of the room?

(1) 3w-4 {3) 3w’ -dw

(2) Jwe-7 (4) 3w -Tw
The length of a rectangle is 3 inches more than its width. The area of
the rectangle is 40 square inches. What is the length, in inches, of the

rectangle?
(1) 5 (3) 8.5 .
P (4) 115 ) |

A plastic storage box in the shape of a rectangular prism has a length of x + 3, a width of x — 4,and
a height of 5.

Represent the surface area of the hox as a trinomial in terms of x.
>< l ~ 3 /

The area ol a rectangle is represented by & — 3¢ — 24. If the width of the rectangle is represented
by x — 8, express the length of the rectangle as a binomial.



A contractor needs 54 square feet of brick to construct a rectangular walkway. The length of the
4 q g ,
walkway is 15 feet more than the width.

Write an equation that could be used to determine the dimensions of the walkway. Solve this
equation to find the length and width, in feet, of the walkway.

Lot )
’fdc’l—l\ =Y
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Which graph represents an exponential equation?

&

NAA

k wuml
ot e Ay

PRI A T i I

T

e -4 -
~HANER

P .
. ey
fo—t it oy T
_.I. T_ m R N
B # [ +e
i ~|.r|_ =] N
RESRpapuni ) :
[ N 1= . =
¥ v

X

k-3l

(3) y:fx|—3

(4) y

]

3

Which equation is represented by the graph below?
=(x-3)°

(1) y
2) y



gmph of y= 2% gyer the interval =1 < x = 3.

On the set of axes below, draw the

Will this graph ever intersect the v-axis? Justify vour answer.

—f




The graph of the equation y = [x] is shown in the diagramn below.

graph of the equation y = ¢fx| when

Which diagram could represent a gr

-1<a<0?

{1}




The graph of y = |x + 2] is shown below.

Y

Which graph represents y = —{x + 2/[?

Y

———f -

(3)

(1)

vl
il

NG

SELEN

jiikaird
.Jll.ll —lr

e k- |.||._ 1 .
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Which is the graph ol y

K_r—l)



On the set of ases below, graph and labe! the equations y = lx| and y = 3} for the interval

~3=y=3.

_4\
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Explain how changing the coctheient of the absolute value from 1 to 3 affects the graph.



Graph and lubel the {ollowing equations on the set of axes helow:
i =l
_|L.
Y =|ax

Explain how decreasing the coefficient of x affects the graph of the equation iy = .

O A S

1
I ;
i =
N
|
)
Lol
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Winch interval notation represents the set of all reul nunbers greater
than 2 and less than or equal to 202

(11 (2,20 (3) [2,20)
2) (2.20] (4) [2,20]

Whicl interval notation represents the set of all numbers greater than

or equal to 3 and less than 127
() (5,12 {3) (5.12)
) (5.17] 1) [5.12]

in interval notation., the set of all real numbers greater than =6 andl
less than or equal to 14 is represented by

(1 (=6, 14} (3} {—6. 14]

(21 [—6, 14 (4} [—6, 14}

Which set builder notation represents {—2, =1,0, 1,2, 3)?
(1) {x|—3 = x = 3, where x is an integer)
(2) {xI—3 < x = 4, where 1 is an integer]
3) x|-2 <x < 3, wherexisan integer|
(4) {x|—2=1x <4, wherexisan integer)

Which set-builder notation deseribes (=3, =2, =1, 0, 1, 217
(1) fx[=3 = v <2 where x is an integer]
(2) x|=3 < v = 2, where v is an integer]
(3} [xj=3 < x < 2, where x is an integer}

(d) x]=3 =y =2 where v is an integer}

Which notation describes [1, 2, 3)?

(1} {x]1 = x < 3, where xis an integer]
(?) 1x|0 < x = 3. where x is an integer)
(3) [x]1 <x <3, where x is an integer}

(4) [x]0 = x = 3, where x is an integer)

3

®



The set (11,12} is equivalent to

(1) [x]11 < 2 <12, where x is an integer)
(2) {211 < x £ 12, where x is an integer)
(3) (x[10 €1 < 12, where v is an integer}

(4) {¢)10 < x € 12, where x is an integerl

The set {1,2,3,4} is equivalent to
(1) {\‘ | 1 < v < d.where x is a whole number }
@) {x !0 <x < dawhere xisa whole number |

{3) {x |0 < v < 4,where visa whole number |

J

) {x |1 <x = dawhere v is a whale number !

i _9 and less than 6. A subset
Consider the set of integers greater than -2 _
of &15 set is the positive factors of 5. What is the complement of this
subset?
(1) 10.2,3,4} (3) -2,-10, 2, 3, 4, 6)

(2) ‘._1’ 0' 2. 3, 4! (4) l-—?., "1, 0. 1. 2, 3. 4’ 5! 6]

)

Twelve plavers make up « high school basketball team. The team jerseys are numbered 1 through
12. The plavers wearing the jersevs sumbered 3. 6, 7, 8, and 11 are the only players who start a

game. Using set notation, list the complement of this subset.

? /r Z, t-/,J; c?};c;/&}

Givewr
Set U1 ={S. 0. p H.1 Al
50t B = 1A L0}

i H 3 > : P ?
1l set B is a subset of set U. what is the cnmpl( ment of set B

(1) 0. P, S} (3} A H, D
2) 11 P, S) 4) {H.P. S}
Given:

A = [All even integers from 2 to 20, inclusive}
B = {10, 12, 14, 16, 18}
What is the complement of set B within the universe of set A?

(1) (4,86,8 (3) {4, 6,8, 20}
(2) 12,4,6.8} (4) 12, 4.6, 8, 20}




CGiven:

U=11,2734,56 7.5

B =12.3,5.6]
St B is a subset of set U. \What is the complement of set B?
(4 (3 11.4.7.9

) 12.3.5.6) (4) 11,2.3,4.3.6.7. 8]

I the imiversal set is {pennies, nickels. dimes, quarters], what is the

complement of the set {nickels}?
(1 1}

(21 {pennies, (arters

(31 {pennies. dimes, qnartcrs}

41 {penuies. nickels. dimes, (puarters;

Given: A = 13,6.9,12,15)
B=1{24.68,10.12]

What is the union of sets A and B?

(1) {6) (3 12,3.4,8. 4, 10, 153]
(2) 16,12} (1) 2.3.4,6.5.9,10, 12, 15}
Given:

A=1(2,4.57, 8}

B=135289!

What is A I B?

(1 {5 (3) 12,3,4,7.9)
(2 15, 8} {(4) 12,3,4,5,7.8,9
Given:

X=1{l,2 3.4}

Y =12.3.4. 5|

Z=13,4.3.6)

What is the intersection of sets X, Y, and Z?
(1) {3, 4 (3) 13.4.53}
i2) 12.3. 4! i4y {1.2.3,4,5.6)

£



W= (0, 1,2,3)
z =12 p
What is the intersection ol sets Q. W, and Zr
(3) {1.2,3 |
(n {2 .
(2) 10,2 (4) 10.1.2.3, 4.6 I

Maureen tracks the range of outdoor temperatures over three days. She records the
following information.

t
Day t: ——— P — ————~
—20°F 40°F
t
Day 2: < Sumeeee————————)—
0°F 50°F
t
Day 3: < e —————— ) ——— -
—23°F 45°F

Express the intersection of the three sets as an inequality in terms of temperature, ¢

s, L Y.
L= LL - 7‘-
Which set represents the intersection of sets A. B, and C showtt in the
diagram helow?

A

(N

Yo

() (3.4.5,6, 7 3) 12,3.4.5.6

21 (2

7l
(4) 11.2,3,4.3,6.7.8. 9]




ME :

S/'MID/CSTL Didreod Form

[ ) What is 3V250 expressed in simplest radical form?

(1) 5V10 (3) 15V10
(2) 810 (4) 7510 ’))
l.) When 520 is written in simplest radical form, the result is kv5.
What is the value of k?
(1) 20 (3) 7
(2) 10 (4) 4

?.) Express 378 in simplest radical torm.
-3

L{) What is ¥32 expressed in simplest radical form?

(1) 1642 (3) 48

(2) 2 (4) 248 1
g) What is V72 expressed in simplest radical form?

(1) 2/18 (3) 62

(2) 3/8 4) 8V3 3

b\ What is 2445 expressed in simplest radical form?

(1) 35 (3) 6v5 ,))
(2) 5J5 (4) 18V3

2) What is Li'_l expressed in simplest radical form?

(1) V2 3) V8
(@) 4/2 (4) _‘/25 /




B) Express the product of 330(2V5 ~ 7) in simplest radical fornin.

bo - YAJ5

Ci) The expression V72 — 3¥Z written in simplest radical form is
(1) 5v2 (3) 32
(2) 3V6 {(4) V6

orrpee VAL _ =5
1‘)_) Express T 3VIZ in stmplest radical form.

BNE!

) Whatis 3v2 + 4§ expressed in simplest radical form?

(N Wi (3) 5v¥2
(2) 3V16 () 73

[z) The expression 630 + 632 written in simplest radical form is

(1) 6432 (3) 172
(2) 12452 (4) 3642

7/

N~
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l) What is the value of x, in inches, in the right triangle below?

Jinches

5 inches

() 15 (3) V34

(2) 8 (4) 4

L) Nancy's rectangular garden is represented in the diagram below.

-
-
-
~

-
-

8 feet a/‘ﬁvai; =

1 [

15 feet

If a diagonal walkway crosses her garden, what is its length, in feet?

(1) 17 (3) Jiel
(2) 22 (4) J529

ached to the top of a 3-loot-tall

'5) The end of a dogs Jeash is att
below. The dog is 7 leet away

fence post, s shown in the diagram
from the hase of the {ence post.

Leash
5t as

71 Dog

o nearest tenth of a fom?
{31 9.0
(4120

How long is the leash, to th
W 2
12} 8.6



L ) The rectangle shown Lelow has a diagonal of 5.4 cm and a width ol

7 ct.

184 cm 7ecm

: g s D
Ty the nearest contimeler, what is the length, x, of the rectangle’

(oo (3) 20

on the shores of Lake Omega, as shown in the diagram below.
‘The two campsites form a right triangle with Sam’s position, 5.
The distance from campsite B to Sam’s position is 1,300 yards, and
campsite A is 1,700 vards from his position.

q Campsite A and campsite B are located directly opposite each other

1,700 yards

1,300yards S

What is the distance from campsite A to campsite B, to the nearest

yard?
{1) 1,093 (3) 2,140
(2) 1,096 (4) 2,141

The legs of an isosceles right triangle each measure 10 inches. What
is the length ol the lnpotenuse of this triangle. to the nearest tenth of
an inch?

1Y 6B i3 141

2y 71 noLvl



?) The length of the hypotenuse of a right triangle is 34 inches and the |
length of one of its legs is 16 inches. What is the length, in inches, of |
the other leg of this right triangle? |

(1) 16 (3) 25

(@) 18 (1) 30 071

Don placed a ladder against the side of his house as shown in the
. % g
diagram below.

Ladder \\
201t \

195#

X

Which equation could be used to find the distance, x, from the foot of
the ladder to the base of the house?

(1) x=20-195 @) 1=/ 195
(@) x = 20t - 19.5* @) x=Y/20 +195 £
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l Which equation could be used to find the measure of one acute angle
in the right triangle shown bhelow?

A
5
c B
4

P | s B2

(1) sin A = = (3) cos B - 3
2y ban A = 2 B =t
(2) tan A = 3 ($) tm B =z

)\\ The diagram below shows right triangle UPC.

Which ratio represents the sine of £U?

13 ~y 3
) g 3) 15 =1
@ £ @



%) The diagram helow shows right triangle ABC.

A
13
5
h
C 12 B

Which ratio vepresents the tangent of LABC?

5 - 12
M 53 ) 13
» 3 12
@ & £

and a hypotenuse ol 17, as

”[) Right triangle ABC has legs ol 8 and 13
shown in the diagram below,

A
17
8
C 15 B
The value of the tangent of 2B is 2'

(3) 0.852+4
(4) 18730

(1) 04706
(2) 0.5333

&‘) In AABC. the measure of £B = 90°, AC = 50, AB = 48 and
BC = 4. Which ratio represents the tangent of LAT

(L 30 (3) %3—
2y 4 (4) 48

18 T



{| Which equation shows a correct trigonometric ratio lor angle A in
the right triangle below?

B
17 ¢cm
8cm
-

c 15 cm A
a2 13 3 A= B
(1) sinA T (3) cos T
3 15
{2) tan 3 { n 8

7\ Which ratio represents sin vin the right tiangle shown below?

o8 53
] X
45
28 qy 43
(1) 5 (3) _%;;,
9) 28 53
(2) 45 {4) 23

’ g) The diagram below shows right triangle LMP.

L

M 4 P
Which ratio represents the tangent of ZPLM?

(D) (3)

][R [
s=lon o

(2) (4)



)

9

Tn the right triangle

H » atb 1v v Q) -
shown in the diagram helow, what is the value of

v to the nearest whole number?

u)

l)

X
a0°
24
() 12 (3} 21

An S-faot rope is tied from the top of a pole to a stake in the ground,
as shown in the diagram helow.

Rope
e Pole
57°

If the rope forms a 57° angle with the ground, what is the height of
the pole, to the ncarest tenth of a foot?

(1) 4.4 (3) 95

(2) 6.7 (4) 12.3

A tree casts a 25-foot shadow on a sunny day, as shown in the
diagram below.

bl

If the angle of elevation from the tip of the shadow to the top of the
tree is 32°, what is the height of the tree to the nearest tenth of a foot?

(1) 13.2 (3) 21.2
(2) 156 (4) 40.0




As shown i e , .
D\ A nin tlltl(lFlgl .lun I)tl'luw. aladder 5 eet long leans against a wall and makes an angle of 65°
1e gronnd. Find, to the nearest tent! ) i T ‘
= : g - v of a foot, the distance [r :
Laclder. f a f e distance from the wall to the base of the

5 feet

] 65°

21

):\ stake is to be driven into the groun(l away from the base of
diagram below. A wire [rom the stake on the ground to the top of ¢

angle of elevation of 32°.

a 50-foot pole, as shown in the
he pole is to be installed at an

Stake

A

ake be driven in, to the ncarest foot?

3

{low far away from the base of the pole should the st

of the pole, to the nearest Joot?

o

What will be the length of the wire from the stake to the top




aut (straight) ropes, as shown in the diagram

I({ A hot-air hatloon is tied to the gronnd with two t
angle with the ground. The other

helow. One rope is divectly under the baltoon and makes a right
rope forms an angle of 50° with the ground.

Hot-air balloon

10 feet

50°

Ground

wearest foot. of the balloon directly above the ground.

54

Determine the height. to the

Determine the distance, to the nearest foot, on the ground between the two ropes.

71

a 38° angle whose adjacent side measures

)f\ A right triangle contains
ngth of the hypotenuse, to the nearest

10 contimeters. What is the le
hundredth of a centimeter?

(1) 7.58 (3) 1250 ’)_
(2) 12.69 (4 16.24



/£ The center pole of a tent is 8 feet long, and a side of the tent is 12 feet
long as shown in the diagram below.

i2ft Bt

A

If a right angle is formed where the center pole meets the ground,
what is the measure of angle A to the nearest degree?

(1) 34 (3) 48
(2) 42 (4) 56

[?) In right triangle ABC shown below, AB = 1S3 and BC = 11.2

C

.2

18.3 B

What is the measure of LA, to the nearest tenth of a degree?
(1) 313 (3) 52.3 )
(2) 377 (4) 38.5

I \ {n the diagram of AABC shown below, BC = 10 and AB = 16.

To the nearest tenth of a degree, what is the measure of the largest
acute angle in the triangle?

(1) 32.0 (3) 51.3

(2} 387 (4) 90.0




A communications company is building a 30-foot antenna to carvy cell phone transmissions. As

shown in the diagram below, 4 50-foot wire from the top of the antenna to the ground is nised to

stabilize the antenna,

Wire
Antenna 50 #
30 ft
B
Ground

Find. to the nearest degree, the measure of the angle that the wire makes with the ground.

5]

2()_) A trapezoid is shown below.
28 leet

p————— 36 feet

Caleutate the measure of angle x. to the nearest tenth of a degree.

i3

1'\ In right triangle ABC, AB =20, AC = 12, BC = 16, and m£C = 90.

Find, to the nearest degree, the measure of £A.

5
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\ spinner that is equally divided into eight numbered sectors is spun
20 times. The table below shows the number of times the arrow
fanded in each numbered sector.

Spinner Number
Sector of Times

1 2

olvwlolo|s=lw]mM
Ll |w|Md]|w

—

Bascd on the table, what is the empirical prnhuhilit\-’ that the spinner
will fandd on 2 prime number on the next spin?

(1] % 13} %
2 Ll i}
=1 a5y S

A spinner is divided into eight equal regions as shown in the diagram
below.

Which event is most likely to occur in one spin?
(1) The arrow will land in a green or white area.
(2) The arrow will land in a green or black area.
(3) The arrow will land in a yellow or black area.
(4) The arrow will land in a yellow or green area.



The spinner below is divided into eight equal regions and is spun
once. What is the probability of not getting red?

miw vl

The spinner shown in the dizgram helow is divided into six equal
sections.

(@]
Which outcome is least likely to occur on a single spin? B
(1} an odd number {3) a perfect square
(2} a prime number (4) a number divisible by 2

In a science fiction novel. the main character found a mysterious
rock that decreased in size each day. The table below shows the part
of the rock that remained at noon on successive days.

Fractional Part of
Day the Rock Remaining
i 1
2 14
2
1
3 ¥
1
N B
Which (ractional part of the rock will remain at noon on day 77 ’Z
1 1
) To3 3 13
1 1
() 51 ) 13



Students in Ms, Nazzeers mathematics class tossed a six-sided
number cube whase fuces are numbered 1 to 6. The results are
recorded in the table below.

Result Frequency

i 3

i |]w] M
~N|l ] &] P

Based on these data, what is the empirical probability of tossing a 4?

5 5

1) = s

(1) 30 (3) 30

2) & w L 1
30 30

Three high school juniors. Reese. Matthew, and Chris. are mnning
for student council president. A survey is taken a week before the
election asking 40 students which candidate they will vote for in the
election. The results are shown in the table below.

Number of
Candidate's | Students
Name Supporting

Candidate
Reese 15
Matthew 13
Chnis 12

Based on the table. what is the prnbahility that a student will vote lor
Reese?

i 3

l= (3) = "}
; . 5

e 1 . 2

[ 5 {4) S

A bag contains eight green marbles, five white marbles. and.two r;d
marbles. What is the probability of drawing a red marble from the

hag?

ﬁ

>
—

il mi-

=
Sle She



Maria has a set of 10 ndex cards labeled with the digits 0 through 9
She puts them in a bag and selects one at random. The outcome that
is most likely to ocenr is selecting,

(1) an odd number

{2) a prime number

b

(3) a number that is at most 5

i4) a number that is divisible bv 3

The faces of a enbe are numbered from 1 to 6. If the cube is rolled
once, which outcome is feast likely to oceur?

(1) rolling an odd number
(2) rolling an even number L
{3) rolling a mmmber less than 6 /

(4) rolling a nunber greater than 4

Casey purchased a pack of assorted flower seeds and planted them in her garden. When the first
95 flowers bloomed, 11 were white, 5 were red, 3 were blue, and the rest were yellow. Find the

empirical probability that a flower that blooms will be yellow.
.
1Ay '
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{) Keisha is playing a game using a wheel divided into eight equal
sectors, as shown in the diagram helow. Each time the spinner lands
on orange, she wall win a prize.

Orange

If Keisha spins this wheel twice, what is the probability she will win a

prize on botlt spins?
L

L A
‘0 53 3 1g l
(2) :l— i) L
=56 S
?:) Brianna is using the two spinners shown below to play her new board gume. She
on each spinner once. Brianna uses the first spinner to determi

uses the second spinner to determine whether her imove from t
backward.

|/
{4 Back-
/T waa'l:':d T

Find the probability that Brianna will move fewer than four spaces and backward.

Sy

spins the arrow
ne hO\rV ITHJI'I)’ spuces to move. She
he Girst spinner will be forward or



7 Each of the hats shown below has colored marbles placed nside. Llat A contans five green
marbles and four red marbles. Hat B contains six blue marbles and five red marbles. Hat C contains
five green marbles and five blve marbles.

Hat A Hat B Hat C

I 2 student were to randomby pick one marble from each of these three hats, determine [rom
which hat the student would most likely pick a green marble. Justify vour answer.

Dotermine the lewest unmber of marbles. iLany, anid the color of these marbles that could be
added to each Lt so that the probability ol picking a green marble will be one-half in each of the
three hats.

"I Vinee buvs a box of candy that consists of six chocolate pieces. four fruit-lavored pieces. and
two mint pieces, He selocts thiee pleces of candy at random. without replacement.

Calenlate the pmlml)ility that the first piece solected will be froit flavored and the other two
wall e mint.

Calenlute the probability that all three pieces selected will be the same tpe of candy.

o
H
PR

*
RS



Q)

Three fair coins are tossed. What is the probability that two heads
and one tail appear?

1 3
Oy 3e
3 2 1
@) 5 S
The probability that it will snow on Sunday is 3 The probubilitv
. . a ’ ) E
that it will snow ou both Sunday and Monday s % What is the
prnlml)ility that it will snow on Monday, if it snowed on Sunday?
i1} _L.].. 13 l
55 1) 5
{2y 2 0 < 3
(4) i

The faces of a cube are numbered trom 1 to 6. If the cube is tossed
once, what is the probability that a prime number or a number

divisible bv 2 is obtained?

{ ﬁ i3 i
R 6 (3) 6
5 5 @ L
2} S 4) 5 Z

Some books are lai : X i

( L:u] }:mi\-\ Y, ,‘;. 1anl an i ;leslx. Two are English, three are mathematics, one is French, and four we
social studies. Theresa selects an Englis 4 NS i ‘ ,
Suclal ghudies. T .t" : : nglish book .mc% Isabelle then selects a social studies baok. Both
sl uke their selections to the library to read. If Trunan then selects a book at random what is
the probability that he selects an English book? S

y¢
[

Clayton has three fair coins. Find the probability that he gets two tails and one head when he flips
the three coins. .
{
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John is going to line up his four golf trophies ona shell in h;s bedroom.
1low manv different possible arrangements can he makes

(1) 24 (31 10
(2) 16 4 4

How many different ways can five books be arranged on a shell”
(1) 5 (3) 25

: L
(2) 15 (4) 120 l

How mauy different four-letter arrangements are possible with the
letters G, A. R, D, E, N il each letter may be used ouly once?

(1 15 i3) 360
(2) 24 (4} 720

How many different three-letter arrungements can be formed using

the letters in the word ABSOLUTE if each letter 15 used only once?

(1) 56 (3) 166

25 112 (4) 336 'l
il

Determine how many three-letter arrangements are possible with the letters A, N, G L and E if
no letter may be repeated.

¢

How many different sandwiches consisting of one tvpe of cheese,
one condiment, and one bread choice can be prepared trom five types
of cheese, two condiments, and three bread choices?

(1 10 (3) 15

(013 ) 30 y
The local ice cream stand offers three flavors of soft-serve ice cream:

vanilla, chocolate, and strawberry; two types of cone: sugar and

wafer; and three toppings: sprinkles, nuts, and cookie crumbs. If

Dawn does not order vanilla ice cream, how many different choices

can she make that have one flavor of ice cream, one type of cone,

and one topping?

17 (3) 12

(2) 8 (4) 18 —

29



A password consists ol three digits, 0 through 9, followed by three letters from an alphabet having
26 letters.

1f repetition of digits is allowed, but repetition of letters is not allowed, determine the number of
different passwords that can be made.

DIIEUOR

1f repetition is not allowed for digits or letters, determine how many fewer different passwords can
be made.




e
ﬂdt’. D}cxj."a-ﬂg mwf S:uf//c S%accs

[_ An outfit Jennifer wears to school consists of a top, a bottom, and shoes. Possible choices are
listed below.

Tops: T-shirt, blouse, sweater
Bottoms: jeans, skirt, capris

Shoes: flip-flops, sneakers

List the sample space or draw a tree diagram to represent all possible outfits consisting of
one type of top, one type of bottom, and one pair of shoes.

Determine how many different outfits contain jeans and flip-flops.

3

Determine how many different outfits do not include a sweater.

Bt



type of meat, and one type of cheese. The possil)le

9\ A sandwich consists of one type of bread, one
choices are listed below.

.

Bread: white, rye
Meat: ham, turkey, beef
Cheese: American, Swiss

ple space of all the possible different sandwiches consisting of

Draw a tree diagram or list a sam
at, and one type of cheese.

one type of bread, one type of me

nclude turkey.

R

Determine the number of sandwiches that will not i

 include rye bread and Swiss cheese.

B

Determine the number of sandwiches that wil



of one main course, one side dish, and one drink, as shown

) A restaurant sells kids' meals consisting
in the table below.

Kids' Meal Choices
Main Course Side Dish Drink
hamburger French tries milk
chicken nuggets applesauce juice '
turkey sandwich soda

ace showing all possible lids' meals. How many different |

Draw a tree dingram or list the sample sp
kids' ineals can a person order?

José does not drink juice. Determine the number of different kids’ meals that do not include
jnice. ,
il

s for her main course. Determine the number of different

José's sister will eat only chicken nugget
kids’ meals that include chicken nuggets. [1



